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1.A2A88F 21,465 21,465 0
1. 05990 21,465 21,465 0
2. (S v gt g AEghb 1,645 0
1.$94% 1,225 1,225 0
P = CRC BE 420 420 0
3.(AA) s =S 1,890 0 1,890
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SR =) 7}A Y] 2 Z A
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2. W8S 690 0 690 | (A4 HA_25)7A0] : 45,00090+23] = 90,000
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1. A28 2,457 2,457 0
1. %89 2,457 2,457 0
2.7 A9 E 3,920 3,920 0
1. 052G A 3,920 3,920 0
3. =gl ASSE T 1,890 1,890 0
1. 059 H 1,890 1,890 0
4. 5ol &E 1,890 1,890 0
1. 0529 H 1,890 1,890 0
5. A A g 4,543 4,543 0
1. 0520 3,943 3,943 0
2. 5 A 100 600 600 0
4.4084 w8y 21,227 21,227 0
1.542%F 21,227 21,227 0
1.548529 21,227 21,227 0
12479 15,245 15,245 0
1. =AY 15,245 15,245 0
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TSR DA 4,625 4,625 0
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2. W5 1,600 1,600 0

3. gRkgl - Fxn 1,350 1,350 0

2.9 FA A YA 4,370 4,370 0

1. WS- 4,370 4,370 0

3.uSEE TR 8,200 8,200 0
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4. WL A H 7} 2,490 2,490 0
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4. EAALG - 520 840 840 0

5.8 2,720 2,720 0
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3.8 R 508 7,200 7,200 0
1.9 6,480 6,480 0
2. 05 H| 400 400 0
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1.9bd mS 500 500 0
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1.9 Rk8-] 3,600 3,600 0
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1.9 Rk8-] 1,000 1,000 0
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2. ARG 28,870 28,870 0
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4. 71EpA ] 5] 1,800 1,800 0
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1.0 - 10,320 10,320 0
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2. AT J AN 3,360 3,360 0
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2. (52 532 A 970 2] 72,395 72,395 0
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3. A1 A nkete 69,352| 53,043 16,309
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2.3 Y 2,150 2,150 0
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